NC Department of Health and Human Services CURAM Contractor Report 7/1/2013 SFY 12-13 Quarter 4

/ on artment h and	Type of Contract IT Staffing Contract	Purchase Order Number NC10056814	Categories	Computer	Description of Position Provides technical analysis services to identify	vendor	Contractor Name Woolstenhulme, Wes	Position Creation Date	Beginning Date Original Contract	Beginning Date Current Contract	Ending Date Current Contract	Length of Time working for State as Contractor (Months)	Hourly Rate \$ 108.00	Work Hours Projected in FY12-13	Total Annualized Cost, estimated for FY12-13	Funding Source 88.62% Federal /	Salary / Benefits Cost for State Employee Performing Same Function \$ 80,966	Can Function be performed by a State Employee? Yes. The contract conversion position for this	Has Conversion Justification Form been submitted to OSBM? Yes, A State		IT Procurement Certification (if can't be converted)	SAP (yin)	Curam (y/n)
n n Project	·		SKIIS	Analysis Support	approaches to testisfy business requirements by conducting detailed analyses and technical design of program areas.		YVES	·		- Hills Control of the Control of th						11.38% State		function has been established effective October 2012. This contractor has accepted this State position and will convert effective 9/7/13.	established.		:		
IC Department If Health and Iuman iervices/NC AST Project	IT Staffing Contract	NG100405010	Specialty Skills	Systems Analysis Support	Provides services as a Curam Design Specialist to identify approaches to satisfy business requirements by conducting detailed analyses and technical design of program areas.	DataStaff, Inc.	Delaby, Elizabeth	12/19/2011	12/19/2011	12/19/2012	12/31/2013	19	\$ 109.95	1,040	\$ 114,348	88.62% Federal / 11.38% State		Yes. The contract conversion position for this function has been established effective October 2012. This contract resource has committed to conversion effective January 2014.	Yes. A State position has been established.	Jan-14	N/A	N	Y
C Department I Health and uman ervices/NC AST Project	IT Staffing Contract	NC10069304	Specialty Skills	Programming Services	Provides Curam Release Administrator Lead services to support the development and implementation of the NC FAST Program.	Neoage Services	Basavakumer, Chandan	5/1/2012	5/1/2012	5/1/2013	10/31/2013	. 14	\$95.00	2,080	\$ 197,600	88.62% Federal / 11.38% State		Yes. The contract conversion position for this function has been established effective October 2012. Di-H-S is working through legal issues (i.e., citizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted within the next six months and will terminate the contract as soon as we have achieved this goal.	Yes. A State position has been established.	Dec-13	N/A	N	Y

Agency / Institution	Type of Contract	Purchase Order Number	Office of State Personnel Categories	Position Title	Description of Position	Vendor	Contractor Name	Position Creation Date	Beginning Date Original Contract	Beginning Date Current Contract	Ending Date Current Contract	Length of Time working for State as Contractor (Months)	Hourly Rate	Work Hours Projected in FY12-13	Total Annualized Cost, estimated for FY12-13	Funding Source	Salary / Benefits Cost for State Employee Performing Same Function	Can Function be performed by a State Employee?	Has Conversion Justification Form been submitted to OSBM?		IT Procurement Certification (if can't be converted)	SAP (y/n)	Curam (y/n)
NC Department of Health and Human Services/NC FAST Project	iT Staffing Contract	NC10042423	Specialty Skills	Computer Systems Analysis Support	Provides technical analysis services to identify approaches to satisfy business requirements by conducting detailed analyses and technical design of program areas.		Cheema, Charandeep	7/1/2009	7/1/2009	1/2/2013	12/31/2013	48	\$ 95.00	1,040	0 \$ 98,800	88.62% Federal / 11.38% Stat	e	Yes. The contract conversion position for this function has been established effective October 2012. DHHS is working through legal issues (i.e., citizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted	Yes. A State position has been established.	Dec-13	N/A	N	Y
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10077851	Specialty Skills	Computer Systems Analysis Support	Provides design and development services to support required legacy system interfaces for NC FAST using Curam Software.	Connvertex Technologies	Chhetri, Manish	1/23/2012	1/23/2012	6/20/2013	12/31/2013	18	\$ 101.00	1,04	0 \$ 105,040	88.62% Federal / 11.38% State	e	within the next six months. Yes, The contract conversion position for this function has been established effective October 2012. DHHS is working through legal.	Yes. A State position has been established.	Dec-13	N/A	N	Y
		:			,		1										• 10 - 10 - 10 - 10 - 10 - 10 - 10 - 10	issues (i.e., citizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted within the next six months and will terminate the contract as soon as we have achieved this goal.					
NC Department	IT Staffing	NC10055836		Computer	Provides design and	Connvertex	Desal, Amit	2/20/2012	2/20/2012	2/19/2013	8/19/2013	17	\$ 106.00	\$ 2,080.00	\$ 220,480	88.62%	\$ 161,932	Yes. The contract	Yes. A State	Dec-13	N/A	N	Y
of Health and Human Services/NC FAST Project	Contract	ü	Skills	Systems Analysis Support	development services to support required legacy system interfaces for NC FAST using Curam Software.		- :									Federal / 11.38% State		conversion position for this function has been established effective October 2012. DHHS is working through legal issues (i.e., cilizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted	position has been established.				
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10056811	Specialty Skills	Computer Programming Services	Provides development and implementation support of NC FAST using Curam Software. Serves as a point of contact on site for development-related questions and issues that arise which cannot be addressed by a technical consultant.	Questa Technology	El Sayed, Tamer	8/10/2011	8/10/2011	3/3/2013	9/30/2013	23	\$ 109.75	1,040	0 \$ 114,140	88.62% Federal / 11.38% Stat		Yes. The contract conversion position for this function has been established effective October 2012. DHHS is working through legal issues (i.e., citizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted within the next sk months and will terminate the contract as soon as we have achieved this goal.	Yes. A State position has been established.	Dec-13	N/A	N	Y

Agency / Institution	Type of Contract	Purchase Order Numbe	Office of State Personnel Categories	Position Title	Description of Position	Vendor	Contractor Name	Position Creation Date	Beginning Date Original Contract	Beginning Date Current Contract	Ending Date Current Contract	Length of Time working for State as Contractor (Months)	'Hourly Rate	Work Hours Projected in FY12-13	-Total Annualized Cost, estimated for FY12-13	Funding Source	Salary / Benefits Cos for State Employee Performing Same Function	Can Function be performed by a State Employee?	Has Conversion Justification Form been submitted to OSBM?		IT Procurement Certification (if can't be converted)	SAP (y/n	Curam) (y/n)
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10013316	Specialty Skills		Provides release administrator services to support the development and implementation of NC FAST.	DataStaff, Inc.	Fernandes, Neville	8/27/2012	8/27/2012	8/27/2012	8/26/2013	11	\$ 105.95	2,080	\$ 220,376	88.62% Federal / 11.38% State		Yes. The contract conversion position for thi function has been established effective October 2012. DHHS is working through legal issues (i.e., citizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted within the next six months and will terminate the contract as soon as we have achieved this goal.	established.	Dec-13	N/A	N .	Υ .
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10025529	Specialty Skills		Provides development and implementation support to NC FAST using Curam Software.	DataStaff, Inc.	Gumaste, Nikhil	12/19/2011	12/19/2011	6/19/2012	12/31/2013	19	\$ 105.95	2,080	220,376	88.52% Federal / 11.38% Stat		Yes. The contract conversion position for thi function has been established effective October 2012. DHHS is working through legal issues (i.e., citizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted within the next six months and will terminate the contract as soon as we have achieved this goal.	Yes. A State s position has been established.	Dec-13	N/A	N	Y
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10054906	Specialty Skills		Provides development and implementation support of 'NC FAST using Curam Software. Serves as a point of contact on site for development-related questions and issues that arise which cannot be addressed by a technical consultant.	DataStaff, Inc.	Jayaraman, Suresh	2/28/2011	2/28/2011	2/28/2013	8/27/2013	29	\$ 99.98	2,240	\$ 223,888	88.62% Federal / 11.38% Stat		Yes. The contract conversion position for thi function has been established effective October 2012. DHHS is working through legal issues (i.e., citizenship, vendor non-compeles, etc.) to allow the conversion. We are working towards having this position converted within the next six months and will terminate the contract as soon as we have achieved this goal.	Yes. A State s position has been established.	Dec-13	N/A	N	Y
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10064502	Specialty Skilts	Analysis	Provides development and implementation support to NC FAST using Curam Software.	eSystems	Kale, Yashwant	10/24/2011	10/24/2011	4/24/2013	10/31/2013	21	\$ 125.00	1,040	\$ 130,000	88.62% Federal / 11.38% Stat		Yes. The contract conversion position for thi function has been established effective October 2012. DHHS is working through legal issues (i.e., citizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted within the next six months and will terminate the contract as soon as we have achieved this goal.	established.	Dec-13	N/A	N	Y

Agency/ Institution	Type of Contract	A STATE OF THE PARTY OF THE PAR	Office of State Personnel Categories	Position Title	Description of Position	Vendor	Contractor Name	Position Creation Date	Beginning Date Original Contract	Beginning Date Current Contract	Ending Date Current Contract	Length of Time working for State as Contractor (Months)	Hourly, Rate	Work Hours Projected in FY12-13	Total Annualized Cost, estimated for FY12-13	Funding Source	Salary / Benefits Cos for State Employee Performing Same Function	Can Function be performed by a State Employee?	Has Conversion Justification Form been submitted to OSBM?		IT Procurement Certification (If can't be converted)	SAP (y/n)	Curam (y/n)
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10063438	Specialty Skills	Database Management Services	Provides Curam Applications Database Analyst services on the Oracle Database Platform to support the development and implementation of NC FAST.	Questa Technologies	Matallana, Christopher	10/11/2010	10/11/2010	4/12/2013	10/31/2013	33	\$, 104.00	1,040	\$ 108,160	88.62% Federal / 11.38% State		Yes. The contract conversion position for this function has been established effective October 2012. DHHS is working through legal issues (i.e., citizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted within the next six months and will terminate the contract as soon as we have achieved this goal.	established.	Dec-13	N/A	N	Y .
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10013315	Specialty Skills	Computer Systems Analysis Support	Provides technical analysis services to identify approaches to satisfy business requirements by conducting detailed analyses and technical design of program areas.		Mehta, Varum	8/25/2010	8/25/2010	8/25/2012	8/24/2013	35	\$ 75.00	2,080	\$ 156,000	88.62% Federal / 11.38% State		Yes. The contract conversion position for this function has been established effective October 2012. DHHS is working through legal issues (i.e., citizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted within the next six months and will terminate the contract as soon as we have achieved this goal.	Yes. A State position has been established.	Dec-13	N/A	N	Υ .
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10047433	Specialty Skills	Computer Systems Analysis Support	Provides technical analysis services to identify approaches to salisfy business requirements by conducting detailed analyses and technical design of program areas.		Misra, Gouri Kumar	1/18/2011	1/18/2011	1/18/2013	7/17/2013	:30	\$ 109.95	2,080	\$ 228,696	88.62% Federal / 11.38% State		Yes. The contract conversion position for this function has been established effective October 2012. DHHS is working through legal. is working through legal. is working through legal. is working through legal. is working the conversion. We are working towards having this position converted within the next six months and will terminate the contract as soon as we have achieved this goal.	Yes, A State position has been established.	Dec-13	N/A	N	Y

Agency / Institution	Type of Contract	Purchase Order Number	Office of State Personnel Categories	Position Title	Description of Position	Vendor	Contractor Name	Position Creation Date	Beginning Date Original Contract	Beginning Date Current Contract	Ending Date Current Contract	Length of Time working for State as Contractor (Months)	Hourly Rate	Work Hours Projected In FY12-13	Total Annualized Cost, estimated for FY12-13	Funding Source	Can Function be performed by a State Employee?	Has Conversion Justification Form been submitted to OSBM?		IT Procurement Certification (if can't be converted)	SAP (y/n	Curam (y/n)
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10054907	Specialty Skills	Computer Programming Services	Provides development and implementation support to NC FAST using Curam Software.	DataStaff, Inc.	Nair, Ratheesh	3/1/2011	3/1/2011	3/1/2013	8/31/2013	28	\$ 95.00	2,240	\$ 212,800	88.62% Federal / 11.38% Stat	Yes. The contract conversion position for this function has been established effective October 2012. Di-HI-S is working through legal issues (i.e., citizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted within the next six months and will terminate the contract as soon as we have achieved this goal.	established.	Dec-13	N/A	N	Y
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10050130	Specialty Skills	Computer Systems Analysis Support	Provides technical analysis services to identify approaches to satisfy business requirements by conducting detailed analyses and technical design of program areas.		Patii, Nitin	1/18/2011	1/18/2011	1/18/2013	7/17/2013	30	\$ 106.40	2,080	\$ 221,312	88.62% Federal / 11.38% Stat	Yes. The contract conversion position for thi function has been established effective October 2012. DHHS is working through legal issues (i.e., cilizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted within the next six months and will terminate the contract as soon as we have achieved this goal.	Yes, A State s position has been established.	Dec-13	N/A	N	Y
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10064505	Specialty Skills	Computer Programming Services	Provides development services to assist with design and development of components to support required system interfaces for NC FAST using Curam Software.	DataStaff, Inc.	Pendem, Ramkrishna	10/24/2011	10/24/2011	4/24/2013	10/31/2013	21	\$ 103.95	1,040	\$ 108,108	88,62% Federal / 11.38% Stat	Yes. The contract conversion position for this function has been established effective October 2012. DHHS is working through legal issues (i.e., citizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted within the next six months and will terminate the contract as soon as we have achieved this goal.	established.	Dec-13	N/A	N	Y

Agency / Institution	Type of Contract	Purchase Order Number	Office of State Personnel Categories	Position Title	Description of Position		Name	Position Creation Date	Beginning Date Original Contract	Beginning Date Current Contract	Ending Date Current Contract	Length of Time working for State as Contractor (Months)		Work Hours Projected In FY12-13	Total Annualized Cost, estimated for FY12-13	Funding Source	Salary / Benefits Cos for State Employee Performing Same Function	Can Function be performed by a State Employee?	Has Conversion Justification Form been submitted to OSBM?		IT Procurement Certification (if can't be converted)		Curam (y/n)
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10074914	Specialty Skills	Computer Programming Services	Provides development and implementation support to NC FAST using Curam Software.	DataStaff, Inc.	Puranik, Anand	6/6/2011	6/6/2011	6/6/2013	12/31/2013	. 25	\$ 117.75	2,080	\$ 244,920	88.62% Federal / 11.38% State	F 2	Yes. The contract conversion position for this function has been established effective October 2012. DHHS is working through legal issues (i.e., cilizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted within the next six months and will terminate the contract as soon as we have achieved this goal.	Yes. A State position has been established.	Dec-13	- N/A	N	Y
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10067320	Specialty Skills	Computer Programming Services	Provides development and implementation support to NC FAST using Curam Software.	DataStaff, Inc.	Ramasubbu, Raguram	5/1/2011	5/1/2011	4/25/2013	10/31/2013	26	\$ 108.95	2,080	\$ 226,616	88.62% Federal / 11.38% State		Yes. The contract conversion position for this function has been established effective October 2012. DHHS is working through legal issues (i.e., clitzenship, vendor non-compates, etc.) to allow the conversion. We are working towards having this position converted within the next six months	Yes. A State position has been established.	Dec-13	N/A	N	· Y
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10069305	Specially Skills	Computer Systems Analysis Support	Provides development and implementation support to NC FAST using Curam Software.	eSystems	Sahay, Vikash	11/1/2011	11/1/2011	5/1/2013	10/31/2013	20	\$ 117.00	1,040	\$ 121,680	88.62% Federal / 11.38% State		Yes. The contract conversion position for this function has been established effective October 2012. DHHS is working through legal issues (i.e., citizenship, vendor non-competes, etc.) to allow the conversion. We are working towards having this position converted within the next six months and will terminate the contract as soon as we have achieved this goal.	Yes. A State position has been established.	Dec-13	N/A	N	Y .
NC Department of Health and Human Services/NC FAST Project	!T Staffing Contract	NC10070554	Specialty Skills	Computer Systems Analysis Services	Provides technical analysis services to identify approaches to satisfy business requirements by conducting detailed analyses and technical design of program areas.		Call, Arlene	5/7/2012	5/7/2012	5/7/2013	4/30/2014	14	\$99.00	2,080	205,920	88.62% Federal / 11.38% State		2 Yes. The contract conversion position for thi function has been established effective October 2012. This contractor has declined DHHS' offer for State employment. This contractor will be required through project completion.	Yes, Declined State Position.	e N/A	N/A	N ·	Y
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10074909	Specialty Skills .	Computer Systems Analysis Support	Provides Software Applications Management services for the NC FAST Program and supports the development and Implementation of NC FAST.	eSystems	Cladinos, Mary	6/7/2010	6/7/2010	6/7/2013	5/31/2014	37	\$ 147.00	2,080	\$ 305,760	88.62% Federal / 11.38% State		Yes. The contract conversion position for thi function has been established effective October 2012. This contractor has declined DHHS' offer for State employment. This contractor will be required through project completion.	Yes. Declined State Position	e N/A	N/A	N	Y

Agency / Institution	Type of Contract	Purchase Order Number	Office of State Personnel Categories	Position Title	Description of Position	Vendor	Contractor Name	Position Creation Date	Beginning Date Original Contract	Beginning Date Current Contract	Ending Date Current Contract	Length of Time working for State as Contractor (Months)	Hourly Rate	Work Hours Projected in FY12-13	Total Annualized Cost, estimated for FY12-13	Funding Source	Salary / Benefits Cos for State Employee Performing Same Function	Can Function be performed by a State Employee?	Has Conversion Justification Form been submitted to OSBM?		IT Procurement Certification (if can't be converted)	SAP (y/n	Curam) (y/n)
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10059193	Specially Skills	Services	Provides design and development services to support required legacy system interfaces for NC FAST using Curam Software	Connvertex Technologies	Miller, Thomas	4/4/2011	4/4/2011	4/4/2013	4/3/2014	27	\$ 100.00	2,080	\$ 208,000	88.62% Federal / 11.38% Stat		Yes. The contract conversion position for this function has been established effective October 2012. This contractor has declined DHHS' offer for State employment. This contractor will be required through project completion.	Yes, Declined State Position	e N/A	N/A	N	٧
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10062856	Specialty Skills	Programming Services	Assists with design, development and support of components related to the legacy system interfaces for NC FAST.	Consulting,	Bansal, Kaushal	4/1/2013	4/1/2013	4/1/2013	3/31/2014	3	\$ 75.50	2,080	\$ 157,040	88.62% Federal / 11.38% Stat	\$ 161,932 e	Yes	No. A conversion plan will be submitted to OSBM once phase 1 conversion has been finalized. The intent is to first utilize positions declined in phase 1 and create any additional positions needed for the remaining contractors.		N/A	N	Y
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10064504	Business and Technology Applications Analyst	Systems	Provides assistance with data migrations for NC FAST.	KMQ Enterprises	Baxy, Vivek	10/17/2011	10/17/2011	4/18/2013	10/31/2013	21	\$ 69.00	1,040	\$ 71,760	88.62% Federal / 11.36% Stat	\$ 124,153 e	Yes	No. A conversion plan will be submitted to OSBM once phase 1 conversion has been finalized. The intent is to first utilize positions declined in phase 1 and create any additional positions needed for the remaining contractors.		N/A .	N	Y
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10067319	Business and Technology Applications Specialist	Systems Analysis	Provides design and Implementation support for NC FAST reports using Curam Software products.	Questa Technology	Gaddam, Kalyan	10/25/2011	10/25/2011	4/25/2013	10/31/2013	21	\$ 96.50	1,040	\$ 100,360	88.62% Federal / 11.38% Stat	\$ 142,609 e	Yes	No. A conversion plan will be submitted to OSBM once phase 1 conversion has been finalized. The intent is to first utilize positions declined in phase 1 and create any additional positions needed for the remaining contractors.	1	N/A .	N	Y

Agency / Institution	Type of Contract	Purchase Order Number	Office of State Personnel Categories	Position Title	Description of Position	Vendor	Contractor! Name	Position Creation Date	Beginning Date Original Contract	Beginning Date Current Contract	Ending Date Current Contract	Length of Time working for State as Contractor (Months)	Hourly Rate	Work Hours Projected in FY12-13	Total Annualized Cost, estimated for FY12-13	Funding Source	Salary / Benefits Cost for State Employee Performing Same Function	Can Function be performed by a State Employee?	Has Conversion Justification Form been submitted to OSBM?		IT Procurement Certification (if can't be converted)	SAP (y/n)	Curam (y/n)
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10036051	Skills	Analysis Services	Provides services as a Curam Design Specialist to identify approaches to satisfy business requirements by conducting detailed analyses and technical design of program areas.		Jameson, Heldi (backfill for Mukkamala, Prasad)	11/26/2012	11/26/2012	11/26/2012	11/25/2013	8	\$ 106.95	2,080	\$ 222,456	88,62% Federal; 11.38% State	\$ 161,932 e	Yes	No. A conversion plan will be submitted to OSBM once phase 1 conversion has been finalized. The intent is to first utilize positions declined in phase 1 and create any additional positions needed for the remaining contractors.		N/A	N	Y
																			comaciors,				
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10045852	Specialty Skills		Provides development and implementation support to NC FAST using Curam Software.	Technocrats, Inc.	Mandloi, Vinod	2/4/2013	2/4/2013	2/4/2013	2/3/2014	5	\$ 123.00	2,080	255,840	88.62% Federal / 11.38% Stat	\$ 161,932 e	Yes	No. A conversion plan will be submitted to OSBM once phase 1 conversion has been finalized. The intent is to first utilize positions declined in phase 1 and create any additional positions needed for the remaining		N/A	N	Y
													544						contractors,				
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10019753	Business and Technology Applications Specialist		Provides analysis to identify reporting requirements for NC FAST Case Management System reports, and develops recommendations to effectively report data.		Pendyala, Sreeni	10/1/2012	10/1/2012	10/1/2012	9/30/2013	9	\$ 108.81	2,080	\$ 226,325	88.62% Federal; 11.38% Stat	\$ 111,925 e	Yes	No. A conversion plan will be submitted to OSBM once phase 1 conversion has been finalized. The intent is to first utilize positions declined in phase 1 and create any additional positions needed for the remaining contractors.	à	N/A	N	Y
								-															
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10060208	Business and Technology Applications Analyst		Provides assistance with the design and implementation of NC FAST reports using Curam Software products.	DataStaff, Inc.	. Ponnapati, Srinivasa	3/18/2013	3/18/2013	3/18/2013	3/17/2014	4	\$ 82.95	2,080	0 \$ 172,536	88.62% Federal / 11.38% Stat	\$ 161,932 le	Yes	No. A conversion plan will be submitted to OSBN once phase 1 conversion has been finalized. The inlent is to first utilize positions declined in phase and create any additional positions needed for the remaining contractors.	ı	N/A	N	Y

Agency / Institution	Type of Contract	Purchase Order Number	Office of State Personnel Categories	Position Title	Description of Position	Vendor	Contractor Name	Position Creation Date	Beginning Date Original Contract	Beginning Date Current Contract	Ending Date Current Contract	Length of Time working for State as Contractor (Months)	Hourly Rate	Work Hours Projected in FY12-13	Total Annualized Cost, estimated for FY12-13	Funding Source	Employee	Can Function be performed by a State Employee?	Has Conversion Justification Form been submitted to OSBM?		IT Procurement Certification (if can't be converted)	
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10072423	Specialty Skills	Computer Programming Services	Serves as Curam Developer to assist with the development and implementation of NC FAST FFE.	Connvertex Technologies	Santos, Azer	5/20/2013	5/20/2013	5/20/2013	5/19/2014	2	\$ 103,00	2,080	\$ 214,240	88.62% Federal / 11.38% Stat	\$ 161,932 le	Yes	No. A conversion plan will be submitted to OSBM once phase 1 conversion has been finalized. The initent is to first utilize positions declined in phase 1 and create any additional positions needed for the remaining contractors.	Jun-14	N/A	N Y
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10069303	Specialty Skills	Computer Programming Services	Serves as Curam Design Specialist. Identifies approaches to satisfying business requirements by conducting analysis and technical design.	DataStaff	Strong, Eric	5/6/2013	5/6/2013	5/6/2013	5/5/2014	. 2	\$ 106.95	2,080	\$ 222,456	88.62% Federal / 11.38% Stat	\$ 161,932 le	Yes	No. A conversion plan will be submitted to OSBM once phase 1 conversion has been finalized. The intent is to first utilize positions declined in phase 1 and create any additional positions needed for the remaining contractors.	Jun-14	N/A	N Y
NC Department of Health and Human Services/NC FAST Project	IT Staffing Contract	NC10059194	Business and Technology Applications Specialist	Computer Systems Analysis Support	Provides assistance with the design and implementation of NC FAST reports using Curam Software products.	Gateway Solutions	Thotla, Bhavani	10/5/2011	10/5/2011	4/5/2013	10/31/2013	21	\$ 79.60	1,040	\$ 82,784	88.62% Federal / 11.38% Stat	\$ 142,609	Yes	No. A conversion plan will be submitted to OSBM once phase 1 conversion has been finalized. The intent is to first utilize positions declined in phase 1 and create any additional positions needed for the remaining contractors.		N/A	N Y